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[249,91,149,113,16,91,53,41]
[43,1,6,69,20,62,6,44,24,113,6,35,0,3,6,44,20,22,127,60]
[90,100,87,109,86,108,86,105,90,104,88,102]

def checko:
all (ord(x) for x in range(32,128)
iter(s)
# A B F 17 E 322128
checkl(s): # fE##Flen = 39
if len(s)<100:
if len(s)**2 % 777 ~ 233

return True
else:
False
else:
False

check2:
if ((((ord(s[0@])*128 + ord(s[1]))*128+ord(s[2]))*128+ord(s[3]))*128+ord(s[4]))*128+ord(s[5]) 353388946987

# Fi6 1 TLFEH4
if ord(s[-1]) 125:
return True

else:
False
else:
False
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def check3:
arr = map(ord,s)# s#E#H ordZ)#E
a = arr[6:30:3] # HHRTE
while True:
try:
i = next(iter(range(len(a))))# 7EXHB57ZE /1T
if (a[i] 17684 + 372511)%257 arro[i]:
return False
except StopIteration:
break
arr[-2:33:-1]*5
map(lambda x[@]:x[0]”*x[1],zip(b,arr[7:27]))
if ¢ arrl:
p (%]
for i in range(28,34):
if (arr[i]+107)/16+77 arr2[p]:

if (arr[i]+117)%16+99==arr2[p+1]: #; HIEZELFK
0] 2

if checkl(flag):
if check2(flag):
if check3(flag):
print('ok")
else:
print('No")
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from z3 import
arre = [249,91,149,113,16,91,53,41]
arrl = [43,1,6,69,20,62,6,44,24,113,6,35,0,3,6,44,20,22,127,60]
arr2 = [90,100,87,109,86,108,86,105,90,104,88,102]
k = Solver()
S [BitVec('s[%d]'%i,64)for i in range(39) ]
for i in range(39):
k.add(32<=s[i])
k.add(s[i]<128)
k.add(((((s[0]*128+s[1])*128+s[2])*128+s[3])*128+s[4])*128+s[5] 3533889469877)
k.add(s[-1] ord('}"))
arr list(s)
El arr[6:30:3]
for i in range(len(a)):
k.add((a[i]*17684+372511)%257==arr@[i])

arr[-2:33:-1]*5
list(map(lambda x:x[@]*x[1] ,zip(b,arr[7:27])))
i in range(len(c)):

.add(c[i]==arrl[i])

i in range(28,34):
.add(arr2[p] (arr[i]+107)/16+77)
.add((arr[i]+117)%16+99==arr2[p+1])
2

print(k.check())
print(k.model())
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s[28]-108
s[26]=73
s[14]=89
s[0]=102
JEVAENE

i in range(39):
print(chr(s[i]),end=""
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